A New Method for Calculating the Energy of the Bound States in a Non-Symmetrical Potential Well

Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad

Physics Department, Bayero University, Kano, P. M. B. 3011.

Abstract

In this paper simple method for calculating the energy of the bound states of a nonrelativistic particle in a potential well is presented. The particle in onedimensional rectangular potential well was considered first in which the solution of Schrödinger equation is used to find its energy of bound states. We then generalized our method for non -symmetrical potential well. This method is a good tool that can be used to modify the generalized Bohr- sommerfeld quantization Rule.

Keywords: Potential well, Bohr- sommerfeld quantization, bound states energy, wave function.

1.0 Introduction

In this paper we present a simple method for calculating the energies of the bound states of a non-relativistic particle in a potential well [1,2,3,4,5]. To demonstrate the method, we consider a one dimensional rectangular potential as seen below and a particle coming from $x < -\frac{1}{4}$ to $x > \frac{1}{4}$ of the potential well.



Fig.1: One dimensional rectangular potential well of width L and depth V_0

 $V(x) = \begin{cases} 0 \ f \ |x| > \frac{L}{2} \\ -V_0 f \ |x| \le \frac{L}{2} \end{cases}$ (1)

Where V_{μ} is the potential depth, and L is its width.

As usual, for the bound states we need the solutions of the Schrödinger equation which varnishes at $x \to \infty$, this gives the wave functions

$$\begin{split} \psi_{1}(x) &= Ae^{k_{1}^{\mu}}, \ \psi_{2} = Be^{ii} + Ce^{-ii} \ a \quad \psi_{3}(x) = De^{-kr_{11}x} \text{ for region I, II and III respectively i.e} \\ \psi_{I}(x) &= Ae^{k_{11}^{\mu}x}a \quad < -\frac{1}{2} \\ \psi_{I}(x) &= Be^{ii} + Ce^{-ii} \ a \quad -\frac{1}{2} \le x \le \frac{1}{2} \\ \psi_{I}(x) &= De^{-kr_{11}x}a \quad > \frac{1}{2} \end{split}$$

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318

Corresponding author: Y.Y. Ibrahim, E-mail: yahyaibrahimyola@gmail.com, Tel.: +2347061862621

Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad A New Method for Calculating... J of NAMP

For finiteness of the wave function at $x \to \infty$ we have the above equations.

By definition $k = \sqrt{\frac{2m}{\hbar}}$, *E* is the particle's energy with reference to the bottom of the well, m is the mass of the particle $k' = \sqrt{U - k^2} a$ $= 2mv_0/\hbar^2$ Taking the constant $\frac{\hbar^a}{am} = 1$, it means that all the energies are measured in a system of units in which $\frac{\hbar^a}{am} = 1$. Matching the wave functions and their derivatives, we obtain a homogenous system of equations given as:

$$\psi_{I}(x) = \psi_{I}(x)a \quad \frac{d\psi_{I}}{d} = \frac{d\psi_{I}}{d}$$

$$\psi_{I}(x) = \psi_{I}(x)a \quad \frac{d\psi_{I}}{d} = \frac{d\psi_{I}}{d}$$
(2a)
(2b)

Applying boundary conditions $\left(x = \frac{-L}{2}\right)$ on equation (2a) above we have:

$$Ae^{-k^{\prime}u_{2}^{\prime}} = Be^{-t} \bar{z} + Ce^{-t} \bar{z}$$
(3)

$$Ak'_{\mu}e^{-k'_{\mu}\frac{2}{2}} = il\left(Be^{-il\frac{2}{2}} - Ce^{-il\frac{2}{2}}\right)$$
(4)

Also, applying the same boundary conditions $\left(x = \frac{1}{2}\right)$ on equation (30b) above we have:

$$Be^{-b\frac{\pi}{2}} + Ce^{b\frac{\pi}{2}} = Be^{-kr_{t}\frac{\pi}{2}}$$
(5)

$$ii \left[Be^{ii\frac{\pi}{2}} - Ce^{ii\frac{\pi}{2}} \right] = -k'_{t}Be^{-kr_{t}\frac{\pi}{2}}$$
(6)

$$ti \left[Be^{n_2} - Ce^{n_2}\right] = -k'_u Be^{-n'u_2} \tag{6}$$

These equations can be solved simultaneously.

However, when we consider the particle within the region

 $=\frac{L}{2}$ then we consider this particle as bound and we find a general equation for a bound system as: $x = \frac{-L}{2}a$ $\psi(x) = A$ (7)+B

At the boundary of the well, the particle is not there.

4.

Therefore
$$\psi(x) = 0 a = \pm \frac{1}{2}$$

i.e $0 = A \left(\frac{L}{2}\right) + B \left(\frac{L}{2}\right), a = \frac{L}{2}$
 $\Rightarrow A = \frac{L}{2} + B = \frac{L}{2} = 0$
(8)
Also

$$0 = A \quad \left(-k\frac{L}{2}\right) + B \quad \left(-k\frac{L}{2}\right)$$
$$\Rightarrow -A \quad \frac{L}{2} + B \quad \frac{L}{2} = 0 \tag{9}$$

Where sine is an odd function and cosine is an even function of a. Adding (8) and (9) gives

$$\frac{2H}{2} = 0$$
Subtracting (9) from (8) gives
$$(10)$$

$$2A \quad \frac{N}{2} = 0 \tag{11}$$

There is no value of k for which both $\left(\frac{\kappa}{2}\right)$ and $s \left(\frac{\kappa}{2}\right)$ are simultaneously zero. And we should not set A and B equal to zero.

We satisfy the equation by either choosing k such that $\left(\frac{K}{2}\right)$ is zero and A is zero (1st class solution) or by choosing k such that \tilde{s} $\left(\frac{\kappa}{2}\right) = 0$ and B is zero (2nd class solution).

Hence,
$$\Psi(\mathbf{x}) = \mathbf{B}$$
, when $\sin \frac{\mathbf{k}}{2} = 0$
The allowed values of k for the 1st class solution are
 $\frac{\mathbf{k}}{2} = \frac{\mathbf{n}}{2}, \frac{3\mathbf{n}}{2}, \frac{5\mathbf{n}}{2}, \dots \dots$
(12)
 $\Rightarrow \mathbf{k}_{n} = \frac{\mathbf{n}}{L}$
Where $\mathbf{n} = 1,3,5,7,\dots \dots$
Also the allowed values of k for the 2nd class solution are
 $\frac{\mathbf{k}}{2} = \mathbf{n}, 2\mathbf{n}, 3\mathbf{n}, \dots \dots \dots$
(13)
Since $\sin \mathbf{n} = \sin 2\mathbf{n} = \mathbf{s}, 3\mathbf{n} = \dots = 0$
(14)
 $\Rightarrow \mathbf{k}_{n} = \frac{\mathbf{n}}{L}$
(15)

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318

A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP

Where
$$n = 2,4,6,8, \dots \dots \dots$$

Hence
 $\psi_n(\mathbf{x}) = B_n \mathcal{C}$ $k_n \mathbf{x}, k_n = \frac{n}{L}, n = 1,3,5, \dots \dots \dots$ (16)
 $\psi_n(\mathbf{x}) = A_n \mathbf{s}$ $k_n \mathbf{x}, k_n = \frac{n}{L}, n = 2,4,6, \dots \dots \dots$ (17)
The number of energy level n is used to label the corresponding eigen values E_n . This is obtained from the relation
 $E_n = \frac{(\hbar k_n)^2}{2m}$ (18)
Or $k = \sqrt{2mE_n}/\hbar$
 $wh\ell = n = \frac{n}{L}$
 $\frac{k^2 n \hbar^2}{2m} = E_n \quad o \quad E_n = k^2_n$
 $\Rightarrow E_n = \frac{n^2 n^2 \hbar^2}{2mL^2}$ (19)

Equation (19) shows that only certain values of the total energy E are allowed. The total energy of the particle in the box is quantized.

2.0 A New Approach to Bound States

The aim and objective is to show a different way to derive the equation for the eigen-energies E_n which may be generalized to potentials of arbitrary form.

3.0 Self Consistent Reflections In The Potential Well

From the self-consistent reflection in the potential well Fig.1, let us consider a particle in the well which starts propagation from the left wall $x = -\frac{L}{2}$ towards the right wall at $x = \frac{L}{2}$. The propagation is described by the wave function $\psi_n(x) = e^{i \left(x + \frac{L}{2}\right)}.$ (20)After reaching the right wall, the particle acquires the phase factor e^{it} , is reflected from the right with reflection amplitude $\rho(k)$, and propogates towards the left wall, which is described by the wave function $\Psi_{L}(x) = \rho(x)e^{it} e^{-it(x-L/2)}$ (21)After reaching the left wall, the particle acquires and additional phase factor \mathbf{e}^{\perp} . Repeating the same process, a point is reached where the wave function is $\psi_{\mu}(x) = \rho^2(k)e^{2k} \cdot e^{ik(x+k/2)}$ (22)which is identical to the initial wave function except for the amplitude. For this to be identical to the former, we have: $\rho^2(k)e^{2k} = 1$ (23)The solution of this equation gives all the eigen values k_n and therefore $E_n = k_n^2$ (24)The next step is to find p(k) and substitute it into (23) From the relation: $\rho^2(k)e^{2k} = 1$ (25)We recall here how to find the amplitude $\rho(k, u)$ for reflection of a particle with wave number k from the potential step of height U. let suppose that the step is at $x \ge 0$. The wave function of the particle is $\psi(x) = \begin{cases} e^{it} + \rho(k, U)e^{-it}, & x < 0\\ \tau(k, U)e^{-k_{U}x}, & x > 0 \end{cases}$ (26)Applying boundary condition
$$\begin{split} \psi_{1}(x)|_{x=0} &= \psi_{2}|_{x=0} \text{and} \frac{d\psi_{1}(x)}{d}\Big|_{x=0} = \frac{d\psi_{4}(x)}{d}\Big|_{x=0} \\ &\Rightarrow e^{(1\,(0)} + \rho(k,U)e^{-(1\,(0))} = \tau(k,U)e^{-k_{U}(0)} \end{split}$$
 $1 + p(k, U) = \tau(k, U)$ (27)and $ike^{ii(0)} - il(k, U)e^{-ii(0)} = -k'_{ii}\tau(k, U)e^{-k'_{ii}(0)}$ $ll - ll (k, U) = -k'_U \tau(k, U)$ or $U\left[1-\rho(k,U)\right] = -k'_{\rm H}\tau(k,U)$ (28)

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318 A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP

Solution of these equations can be found from the following:
From (27)

$$\rho(k, U) = \tau(k, U) - 1$$
 (29)
Put (29) into (28) to get;
 $\Rightarrow tI [1 - (\tau(k, U) - 1)] = -k'_{U}\tau(k, U)$
After expanding and collecting like terms we get;
 $\tau(k, U) = \frac{-2U}{(k_{U}^{2} - U)}$ (30)

(31)

(32)

Multiplying numerator and denominator of (30) by i we have: $\tau(k, n) = \frac{2k}{2}$

 $\tau(k, u) = \frac{2k}{k + ik^{\prime}u}$ Substitute (31) into (29) to get 2k

$$\rho(k, u) = \frac{2\pi}{k + ik'_u} - 1$$

i.e
$$\rho(k, u) = \frac{k - ik'_u}{k + ik'_u}$$



Fig.2: Argand diagram

From Fig.2 we have [6]

$$Z = k + ik_{U}^{i}, |Z| = \sqrt{k^{2} + k_{U}^{i^{2}}},$$
(33)

$$c = \frac{k}{\sqrt{k^{2} + k_{U}^{i^{2}}}},$$

$$s = \frac{k}{\sqrt{k^{2} + k_{U}^{i^{2}}}},$$

$$\frac{s}{c} = \frac{k_{U}}{\sqrt{k^{2} + k_{U}^{i^{2}}}},$$

$$\frac{s}{c} = \frac{k}{0} = t, \quad 0 = \frac{k_{U}^{i}}{k},$$

$$\Rightarrow s = 0 = t, \quad 0 = \frac{k_{U}^{i}}{k}, \quad 0 = \frac{k_{U}^{i}}{\sqrt{u}},$$

$$\Rightarrow k = \sqrt{Uc} = 0, \quad s = 0, \quad 0 = \frac{k_{U}^{i}}{k}, \quad 0 = t, \quad -1 \left(\frac{k_{U}^{i}}{k}\right), \quad 0 = \frac{k_{U}^{i}}{k}, \quad 0 = t, \quad$$

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318 A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP

$$\rho(k, U) = \frac{e^{-i\theta}}{e^{t}} = e^{-i\theta} \cdot e^{-i\theta} = e^{-it\theta}$$
(37)

$$\Rightarrow \rho^{i}(k, U) = e^{-it\theta}$$
(38)
Substitution gives us:

$$e^{-it\theta(k, U)} \cdot e^{itt} = 1$$
i.e $e^{2it} = e^{it\theta(k, U)}$
(39)
Taking the natural log of both sides of equation (39) we get:

$$2iI = 4i\theta(k, U)$$

$$k = 2\phi(k, U)$$

$$k - 2\phi(k, U) = 0$$
(40)
Put equation (35) in equation (40) to get

$$k - 2\bar{c} - \frac{1}{\sqrt{m}} = n$$
(41)
where n is an integer which can be 1 and 0. The value n= 1 corresponds to k=0, this means a constant wave func

where n is an integer which can be -1 and 0. The value n=-1 corresponds to k=0, this means a constant wave function for a particle on the bottom of the well, however this constant should be 0, because the wave function should vanish at $|\mathbf{x}| = \infty$. Thus, the lowest acceptable eigenvalue is n=0.

4.0 **Non-Symmetrical Well**

If the two walls of the potential are somehow different, as seen in Fig. 3,



Fig.3. The square potential well of width L with two different levels W at the left and U at the right wall eqn. (23) becomes

 $\rho_l(k)\rho_r(k)e^{2\theta} = 1$ (42)where $\rho_{l}(k)a = \rho_{r}(k)$ are the reflection amplitude from the left and right wall respectively. Also, eqn. (42) can be generalized to $k - \phi_{\mathbf{r}}(k) - \phi_{\mathbf{r}}(k) = n$ (43)

Where $\phi_{\mathbb{I}}(k)a = \phi_{\mathbb{I}}(k)a$ the phase factors for the reflection from the left and right walls respectively. ConsideringFig.3, the reflection amplitude at the left wall is now

$$\rho_l(k) = \rho(k, W) = \frac{k - tR^{\prime}_W}{k + tR^{\prime}_W} = e^{-2t\theta(k, W)}$$
(44)
Where

$$k^{r}_{W} = \sqrt{w - k^{2}} a \quad \phi(k, W) = \arctan\left(\frac{k^{r}_{W}}{k}\right) = \arccos\left(\frac{k}{\sqrt{W}}\right)$$

Thus, eqn. (43) for eigen -levels is
$$k - \arccos\left(\frac{k}{\sqrt{w}}\right) - \arccos\left(\frac{k}{\sqrt{w}}\right) = n \tag{45}$$

From the identity [7],

$$\arccos(\mathbf{x}) + \arccos(\mathbf{y}) = \arccos\left[\mathbf{x} - \sqrt{(1 - \mathbf{x}^2)(1 - \mathbf{y}^2)}\right]$$
(46)
Equation (45) becomes

$$k - a \quad \left(\frac{k^2 - k'_U k'_W}{\sqrt{U}}\right) = n \tag{47}$$

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318 A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP



Fig. 4: The square potential well of width L and depth U with a barrier W-U of width d at the left wall.

A more complicated nonsymmetrical potential well with the same level to the right and left is shown in Fig. 4. The potential on the left is equivalent to the potential at the right with the barrier separated from the well by an infinitesimal gap [8-14]. The reflection amplitude from the right wall is the same $\rho_{\rm T}(k) = \rho(k, U)$, as above, but $\rho_{\rm L}(k)$ requires some calculation. This can be done by splitting the potential with an infinitesimal gap as shown in Fig.5.



Fig. 5: (a & b): Reflection from the potential of the wall in Fig.4.

The potential in Fig.4 can be split by an infinitesimal gap as seen in Fig.5 (b).

Now let us denote reflection and transmission amplitudes of the first rectangular barrier as ρ_{1} and τ_{1} and reflections amplitude of the second step as ρ_{2} . Then, taking into account multiple reflections inside the gap of infinitesimal width , where the phase acquired between the walls can be neglected, we obtain for the reflection ρ_{1} of the whole system the infinite sum.

$$\rho_{1} = \rho_{1} + \sum_{n=0}^{\omega} \tau_{1} \rho_{2} (\rho_{1} \rho_{2})^{n} \tau_{1} = \rho_{1} + \frac{\tau_{1}^{*} \rho_{2}}{1 - \rho_{1} \rho_{2}}$$

$$Comparing (48) \text{ with infinite geometric series}$$

$$\sum_{k=0}^{\omega} ar^{k} = \frac{a}{1 - r}$$

$$\Rightarrow a = \tau_{1}^{*} \rho_{2}, r = \rho_{1} \rho_{2}, k = n$$

$$\rho_{1} (k) ct$$

$$\rho_{1} (k) = \rho(k, W, d) + \frac{\tau_{1}^{*} (k, W, d) \rho(k, U)}{1 - \rho(k, W, d) \rho(k, U)}$$

$$\rho_{1} (k) = \frac{\rho(k, W, d) + \mu(k, U) [\tau_{1}^{*} (k, W, d) - \mu^{*} (k, W, d)]}{[1 - \mu(k, W, d) \rho(k, U)]}$$

$$(49)$$

where we have introduced notations for reflection $\rho(k, W, d)$ and transmission $\tau(k, W, d)$ amplitudes of the rectangular potential barrier of height W and width d, these amplitudes can be calculated as follows:

Let us look at the rectangular barrier of height W and width d in fig.4 and denote reflection and transmission amplitudes from vacuum into the barrier as $\rho_{\perp}, \tau_{\perp}$, and reflection and transmission amplitudes from inside the barrier into vacuum as $\rho_{\perp}, \tau_{\perp}$, obtained above as:

$$\tau_{1} = \frac{2k}{k + t k r_{W}}, \tau_{2} = \frac{2t k r_{W}}{k + t k r_{W}}, \rho_{1} = -\rho_{2} = \frac{k - t k r_{W}}{k + t k r_{W}}$$
(50)
And
$$\tau_{1} \tau_{2} = 1 - \rho^{2}$$
(51)

We can obtain formulae for reflection, ρ , and transmission τ , of the whole barrier. Indeed, taking into account multiple reflections at the two edges at x = 0, and x = d, and also extinction $e = \exp(-k^r w d)$ for the propagation between the

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318 A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP

edges, we get ρ and τ as sums of infinite geometrical progressions thus: $\rho = \rho_{\parallel} + \sum_{n=0}^{\omega} \tau_{z} \rho_{z} (\rho_{z} e)^{2n} \tau_{\parallel}$ Comparing with infinite geometric series as above we get:

$$\sum_{n=0}^{\infty} ar^{n} = \frac{a}{1-r}$$

$$\Rightarrow \tau_{1}\tau_{2}\rho_{2} = a, \ \rho_{2}^{-2}e^{2} = r$$
Equation (52) can be written as
$$\rho = \rho_{1} + \frac{\tau_{1}\tau_{2}\rho_{2}}{1-\rho_{2}^{-2}e^{2}}$$
But from eqn. (51), $\tau_{1}\tau_{2} = 1 - \rho_{1}^{-2}a \quad f \quad e \quad (50), \ \rho_{1} = -\rho_{2}$ thus equation (53) becomes
$$(53)$$

(52)

$$\rho = \rho_1 + \frac{(1-\rho_1)^2(-\rho_1)}{1-(-\rho_1)^2 e^2} = \rho_1 - \frac{\mu_1 + \rho_1^{-1}}{1-\rho_1^{-2} e^2}$$
(54)
Given that

$$\rho_{1}^{2} = |\rho_{1}\rho_{1}^{*}| = 1, \rho_{1}^{3} = \rho_{1}|\rho_{1}\rho_{1}^{*}| = \rho_{1}$$
Substituting (55) in (54) we get
(55)

$$\therefore \rho = \rho_1 - \frac{\rho_1 + \rho_1^3}{1 - \rho_1^2 e^2} = \frac{\rho_1}{1} - \frac{\rho_1 + \rho_1^3}{1 - \rho_1^2 e^2} = \frac{\rho_1 (1 - \rho_1^2 e^2) - \rho_1 + \rho_1^3}{1 - \rho_1^2 e^2}$$

$$= \frac{\rho_1 (1 - \rho_1^2 e^2) - \rho_1 + \rho_1^4}{1 - \rho_1^2 e^2} = \frac{\rho_1 (1 - e^4)}{1 - \rho_1^2 e^2}$$
(56)

And

$$= - v \sum_{n=1}^{\infty} \sum_{n=$$

$$\tau = e \sum_{n=0}^{\infty} \tau_2 \left(\rho_2 e \right)^{2n} \tau_1 = \frac{1 - \rho_1^2 e^2}{1 - \rho_1^2 e^2} = \frac{\tau_1 \tau_2}{1 - \rho_1^2 e^2}$$

$$S \qquad (53)t \qquad (56)a \qquad (57), a \qquad \rho_1 = \rho(k, W), \rho = \rho(k, W, d),$$

$$\tau = \tau(k, W, d) w \qquad :$$

$$(57)$$

$$\rho(k, W, d) = \rho(k, W) \cdot \frac{1 - e^{-2krw}}{1 - p^2(k, W) e^{-2krw}}$$
(58)

$$\tau(k, W, d) = e^{-krw} \cdot \frac{1 - p^2(k, W)}{1 - p^2(k, W)}$$
(59)

1−<u>P</u>[±](*k*,w)e^{−2}*k* From eqn. (36) $\rho(k, W) = e^{-2i\phi(k, W)}$ For $d \to 0$

i.
$$\rho(k, W, d) = \rho(k, W) \cdot \frac{1 - e^{2R^{2}W}}{1 - \rho^{2}(k, W)e^{-2R^{2}W}} \alpha - i\alpha$$

 $\therefore \rho(k, W, d) \to 0$
ii $\tau(k, W, d) = e^{-2R^{2}W} \cdot \frac{1 - e^{-4i\phi(k, W)}}{1 - e^{-4i\phi(k, W)}} = e^{0} \cdot \frac{1 - e^{-4i\phi(k, W)}}{1 - e^{-4i\phi(k, W)}} = 1$
(60)

$$\begin{array}{c} \text{i.} \quad \iota(n,w,u) = \iota \\ \vdots \\ \tau(k,W,d) \to 1 \\ \text{iii.} \quad \therefore \\ \rho_{i}(k) \to \rho(k,U) \end{array}$$

$$\begin{array}{c} \text{(61)} \\ \text{(62)} \end{array}$$

$$\begin{array}{l} \text{III.} & \cdots & \rho_l(\kappa) \to \rho(\kappa, \omega) \\ \hline \mathbf{F} & \mathbf{d} \to \infty \end{array}$$

i-
$$\rho(k, W, d) = e^{-2t\phi(k, W)} \cdot \frac{1-e^{-t\phi(k, W)}}{1-e^{-t\phi(k, W)} \cdot e^{-2kTW}}$$

 $\therefore \rho(k, W, d) \rightarrow \rho(k, w)$
(63)

ii-
$$\tau(k, W, d) = e^{-2krw} \cdot \frac{1 - e^{-4i\phi(k,W)}}{1 - e^{-4i\phi(k,W)} \cdot e^{-2krw}} \alpha e^{-2krw}$$

= 0

$$\begin{aligned} & \therefore \tau(k, W, d) \to 0 \\ F \quad \rho(k, W, d) \propto -i_1 \text{, we have:} \end{aligned}$$
 (64)

 $p(k, W, d) = e^{-2i\phi(k, W)} \cdot \frac{1 - e^{-2krw}}{1 - e^{-4i\phi(k, W)} \cdot e^{-2krw}} = -c_i$ Where $c = |\rho(k,w,d)| e^{i \phi(k,W,d)}$ $\Rightarrow \rho(k, W, d) = -i |\rho(k, W, d)| e^{i \emptyset(k, W, d)}$ $F \tau(k, W, d) \propto i e^{-2krw}; w ha$ (65) $\begin{aligned} \tau(k,W,d) &= e^{-2krw} \cdot \frac{1 - e^{-4t\phi(k,W)}}{1 - e^{-4t\phi(k,W)} \cdot e^{-2krw}} \alpha \ e^{-krw} \\ &\Rightarrow \tau(k,w,d) = |\tau(k,W,d)| e^{t\phi(k,W,d)} \end{aligned}$ (66) whe $|\tau(k, W, d)|^2 + |\rho(k, W, d)|^2 = 1$ (67)

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318 A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP

and	
$\phi(k, W, d) = \arctan\{\cot[2\phi(k, W)] \tanh(k'_W d)\}$	(68)
This phase has the following asymptotic behavior:	
$\phi(k, w, d) \to \begin{cases} 0 \ f \ d \to 0 \\ \frac{\pi}{4} - 2\phi(k, w) \ f \ d \to \infty \end{cases}$	(69)
Substitution gives us	
$p(\bar{k},W,d) + \mu(\bar{k},U) \left[r^2(\bar{k},W,d) - p^2(\bar{k},W,d) \right]$	

 $p_1(k) = \frac{p_1(k) + p_2}{k}$ 1-p(k,U)p(k,W,d)

Expansion gives us

$\rho_1(k) = -i |\rho(k, W, d)| e^{i \phi(k, W, d)} + e^{-2i \phi(k, U)} e^{2i \phi(k, W, d)}$

(70)But, $f \to 0, \phi(k, W, d) \to 0$ a $\rho(k, W, d) \to 0$ thus equation (70) becomes $\rho_l(k) = e^{-2i\phi(k,U)} \cdot e^0 = e^{-2i\phi(k,U)}$ (71)Since we are considering the left wall, we assumed u to be zero equation (71) becomes $\rho_{l}(k) = e^{-2t\phi_{l}(k)},$ (72)Comparison and some mathematical arrangement gives us $\phi_{\mathfrak{l}}(k) = \phi(k, U) - \phi(k, W, d) + \arctan\left\{\frac{|\mu(k, W, d)| \hat{\epsilon} \quad [\varpi(k, U) - \phi(k, W, d)]}{1 + |\mu(k, W, d)| \hat{s} \quad [\varpi(k, U) - \phi(k, W, d)]}\right\}$ (73)

Substitution gives the following equation for eigenvalues $k_{\rm H}O$ k:

$$k - \phi_{r}(k) - \phi_{\tilde{r}}(k) = n \Rightarrow k - \phi(k, U) - \phi(k, U) + \phi(k, W, d) + \arctan\left\{\frac{|\mu(k, W, d)|c}{1 + |\mu(k, W, d)|s} \frac{[2\phi(k, U) - \phi(k, W, d)]}{[2\phi(k, U) - \phi(k, W, d)]}\right\} = n$$
(74)

6.0 The Generalized Bohr – Sommerfeld quantization rule is [15]

$$\int_{a}^{b} k(\mathbf{x}) d - \frac{n}{2} = n \tag{75}$$

Let us see how well this rule is satisfied in the potential well (Fig.1) In this case, k(x) = k does not depend on x, we obtained

$$\int_{-\frac{L}{2}}^{\frac{L}{2}} k = k[x]_{L/2}^{\frac{L}{2}} = k\left(\frac{L}{2} + \frac{L}{2}\right) = k$$

$$\therefore \int_{-\frac{L}{2}}^{\frac{L}{2}} k = k$$

And the precise quantization rule becomes (41). This means that $\frac{\pi}{2}$ must be replaced by $2 \arccos\left(\frac{k}{\sqrt{\mu}}\right)$. The last quantity

becomes π as $u \to \infty$; thus the quantization rule for infinite u becomes.

 $K - \pi = n$

With integer, $n \ge 0$. The precise quantization rule (41) deviates from (75). This shows that the quantization rule (75) should be modified to

$$\int_{u}^{b} k(x)d - \phi_{l}(x) - \phi_{r}(k) = n$$
(76)

Where $\phi_{I}(\mathbf{x})a$ $\phi_{\rm T}({\bf x})$ are the reflection phases at the turning points ${\bf x}_{\rm I}a$ $\mathbf{x}_{\mathbf{r}}$, where $k(\mathbf{x}_{\mathbf{r}}) = k(\mathbf{x}_{\mathbf{r}}) = 0$. In view of that, we consider a simple case of a potential well shownin Fig.6.



Fig. 6: Non-symmetrical potential well.

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318 A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP

The reflection phase for such a potential are:

and the quantization rule (75) becomes

$$\int_{u}^{b} k(x)d - a \qquad \sqrt{\frac{k^{2} - V(x_{l})}{W}} - a \qquad \sqrt{\frac{k^{2} - V(x_{l})}{U}} = n$$
(78)

7.0 Conclusion

In conclusion therefore, in this paper our contribution to the existing knowledge in the literature is that we were able to modify **Bohr** – **Sommerfeld quantization rule** by considering the reflection and transmission of particles within the potential well of depth V_0 and width L. Our result shows that for symmetrical potential, the one in Fig.1, the quantization rule will be given by equation (41) rather than (75). For non-symmetrical potential well shown in Fig.3, we see that the general rule for quantization will be given by (76) and not equation (75).

8.0 References

- [1] B. Cameron Reed 'A single equation for finite rectangular well energy eigen-values' Am. Journal of Physics **58** (5) pp 503-504 (1990).
- [2] S. Flugge and H. Marshal, Rechenmethoden d. Quantentheorie I. Teil (Springer-verlag,Berlin, 1947) pp 30-47
- [3] J. L. Powel and Crasemann. 'Quantum Mechanics' (Addison-Wesley Reading, AM. 1961) pp 102-113.
- [4] L. L. Goldman and V. D. Krichenkov. 'Problems in Quantum Mechanics' (Addison-Wesley Reading, AM. 1961) pp 47-49.
- [5] D. Ter Haar, 'Selected problems in Quantum Mechanics' (Academic, New York, 1964), pp65-67.
- [6] B. D. Gupta (2010) 'Mathematical Physics' Vikas Publishing House PVT LTD Fourth Edition pp 54 57.
- [7] ww.physicsforum/shorthread.ph...,4-4-2014. Accessed on 4th of April, 2014.
- [8] V. K. Ignatovich, 'Remarkable capabilities of the recursive relations method' Am J. Physics 57 (10) pp 873-878 (1989).
- [9] V. K. Ignovich, 'The Physics of Ultracold Neutrons' (Clarendon, Oxford, 1990)
- [10] V. K. Ignovich, 'An Algebraic approach to the propagation of waves and particles in layered media' Physica B 175 (1-3) pp 33-38 (1992)
- [11] V. K. Ignovich, F. V. Ignovich and D. R. Andersen, 'Algebraic description of multilayer systems with resonance' Part. Nuclei Letter **3** (100) pp48-61 (2000).

Journal of the Nigerian Association of Mathematical Physics Volume 29, (March, 2015), 309 – 318 A New Method for Calculating... Y.Y. Ibrahim, Hamisu Ado, Idris Ahmad J of NAMP

- [12] V. K. Ignovich, 'Principles of Invariance of Splitting' in Neutron Optics and basic properties of the Neutron Phys. At Nuclea. **62** (5) pp 738-753 (1999).
- [13] F. Radu and V. K. Ignovich, 'Generalized matrix method for the transmission of Neutron through multilayer magnetic system with noncolinear magnetization' Physica B 267-268 175-180 (1999).
- [14] V. K. Ignovich, 'Multiple wave scattering Formalism and the rigorous Evaluation of Optical Potential for Three Dimensional Periodic Media' Proceedings of the International Symposium on Advances in Neutron Optics and related Research Facilities, Neutron Optics in Kumatori '96 [J. Phys. Soci. Jpn Suppl. A 65, 7-12 (1996)], Bibl. 11
- [15] L. D. Landau and E. M. Lifshits, 'Quantum Mechanics' (Gosizdat Fizmatlit Moscow, 1963), Chap. VII Paragraph 48.